= CW carrier 0dBm
Power (dBipff\, Total power = +3dBm, LMV225 output voltage is almost correct about 2.8 dBm
ooy~ - N e e e
950 2150 Frequency (MHz)
Power ;d(]is]:])'\ 7777777777 T ﬁ pcier =+3dBm, LﬂZZSiout[itvoltﬁe isieqwito OdiBmi -

15001510 Frequency (MHz)

The LMV225 seems not able to measure the power of multiple carriers who are "near" each other,
when moving the 2 carriers away from each other the output voltage is slowly going up,
only when the carriers are >1GHz appart, the output voltage corresponds to a 3dB increase in power.
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